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. What is the mass of 1.75 moles of zinc atoms? =
S i
b. How many moles of atoms are there in 42.0 grams B
of aluminum?
S=vdiWhat i the mass ‘of; 0..675, mole of copper atoms?» <8
——
V4
d.  How many atoms are there in 1,50 moles of d.
Carbon?
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e. How many moles of atoms are there in 7.50 X 10 o2
atoms of iron?

hat. is.'the mass of 1.25
“nitrogen?z: - iy

g. How many atoms are there in 18.0 grams of &=
silicon?

h. What is the mass of 6.25 X 1020 atoms of lead? h.

i. How many atoms are there in 1.35 X 1072 mole B8
of neon?

j. What is the mass of 8.55 X 1073 mole of silver? T
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